Seat No:

FC-09

Advanced Accountancy & Auditing
Paper-1 (Principal)
Time: 3 Hoursg] [Total Marks : 70
W[ (1)  s{yecks «8Lik sky Epkddk{k yilbk A.
(2) «8lk{k s Lgth nkb ik s ikfkhe Wkhdnefk Y.
(3) «8lok{k f+ A «8 A.

1. Uesk ylk ek yFf Kzelk 3 ¢ 2Lk «{hy{k LWk - LkFikLk dn[e <fke YaakeEknk A. k{lle 12
Mzelk ik. 31.3.04Lk hkslk MkF Wkhob L[ «{ky A.

Eok Yk, r{=Filk Y.
{z¢ Yikik VeV Lk 1,00,000
ke 1,36,000 ok 80,000
o 1,00,000 | 2,36,000 | Vk[h 10,000
WgiLp YLk ik 40,000 | EakEkhk 50,000
fiheskh yAI{kik dailh Vz 6,000 | CcuE: Wvah yllk{ik 2,500| 47,500
fkheokh LKVK Yakek Yazka 8,000 MxkF 30,000
+yEihk 20,000 | hkfz nik=f 42,500
3,10,000 3,10,000

i, 1.4.04 le yleskk Mzedk E¥+ Fhok{k ykde. k{Lk LkVk-LkFKLKK Lkd «{ky

5: 3 : 2 hi¥dk yip. «dplke adl Le[ {sck nile.

(1) ylketky Mzefk Yk. 50,000 {z¢ ikhef hkfzk k.

(2) Mzelke Mithze Yk. 30,000 ykfok{k yide. Miazeuik Ya0Pk rkekb ylk-kLkk Ykoklke
Mozelkk ndkk YVakakeEkhkLke {ze Yakik LKKSOKk Lk—e (kb.

(3) {filkle oF{ik 20% SAhde Rbkh Po%k Mh 10% Yikkhk skydk yik Mxkflke oFLik
Yk. 24,000 gkyde.

(4) EdWENk Kh w=YHA ylk{ik Yk. 5,000 Hkde hk¥de.

(5) [fookk cikfe %[k Yk. 2,000 Lke LA fhoklke ckkfe A. Fkheakhklk yRIkik Ekdk Ak
Yk. 4,000 [FOSKK (kbk.

(6) ylekikk «dp MkAe ylkekike {zelk Mkbklke {ze okye okkfelkk YakakeEkhky MkikkLke {ze
hK¥okk Lk—e FP. vk {kx SYhe ndksk hifz{k LKkiok.

Wikhtke {krnike Ahlke Mkzelkk [ikz ikpkh fhk
(1) LVK-LkFikkLk ndk=k ik
(2)  YikokeEkhkLKk {ze¥ukikk
(3) hkfz ¥ikik
(4)  ylekkk «3p MkAdk AKzelk MKkF Wkhab.
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2. vy, ¢k Fykzyke{ 2:3: 3: 2 W «{kydk LVI-LkAKLk one =ik yTf Mzelk 12
YikkeEkhk A. ik{lie Mzelk k. 31.3.04Lk hkslk AkF Wkhob Lie[ {sck A.

Eak Yk, {+Filk Yk,

{22 Yhilk - LRl 35,000

“y” 30,000 POk 25,000

“” 30,000 VALK[h 20,000

of 10,000 hifz rilkF 10,000

ez 10,000 80,000 | LKVK-LKFIKHLK ¥akik 40,000
~y/Ekhk 40,000
“dlie Kk 10,000

1,30,000 1,30,000

WiknhLke ikkheys Azelk roWksLk kb. roWksLk yaklke {kmnike Le[ ykkok{k yikde A.
() Mih r{=FikLk Yk. 60,000 WEKRPK.

(2) lkzey rolkslk %[ Mx Yk. 5,000 [f0bk.

(3) ckiks Eok Mzey [foe ykibk.

(4) ckAks YikakeEkhkLke yakik r{=Fikk YLk yokik ESk Le[ {sck nik.

YikaleEkh yakik 1{=Filk yakik Eak
Yi. Yk,
ey 15,000 10,000
ook 20,000 1,000
o 8,000 6,000
ez 8,000 10,000

(5) “f” ylk “z” WEh onh bk,
Wikhlke {infle Mhlke glkh SA@ {hlk [REC yLikh Mzeld [ikek od Fhk ikbkh
fhk

(1) {kr{=Fik kfi %kik
(2)  VikgleEkiLik {ze ki
(3) hkfz ik

(4) rdokikakh skyikhe Epiak.

ylkak
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2.

Lh+e, clikhe yik clelk ylke{ 1 : 2 : 3 Wk «{ky{k LiVk-LeFiliLk one =ik yFf Azellk 12

YkaleEknk A. ik{lke Mzelk ikk. 31.3.04 Lk hkslk kF Wkhab Le[ {sck nik :

Edk Y. r{=Filk Y.
{z Yk - s{etk - LR 1,00,000
{h+¢ 60,000 POk 60,000
ckikhe 85,000 VSLK[h 18,000
delk 95,000 10% Lk hicFeyk 40,000
2,40,000( Mxkf 40,000
WP YLk 36,000| EaKEkhK 46,000
LKVK-LkFMkkLK 3/kik 12,000| cKE Yk+%ikA 6,000
Wboik Solk defk Ar-ke 40,000
YL ik 24,000 hkfz - ckF rik=f 42,000
Ede nzeyk 10,000| +yenzeyk 10,000
~y/Ekhk 28,000
3,50,000 3,50,000
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i, 1.4.04 Wk hks {h+e Ue[lke adiel Aze{ke rko% kb A :
(1) Mzelke Fxsef r{=Fikilk Mk {OPkfk Le[ {sck fhd :

Y¥.
s{elk - {fiLk 1,20,000
POk 55,000
VL[ 16,000
lixkF 34,000

(2) EoKEkk Mh 5% +% WhYaA yLik hidade.

(3) hkfkyk h +y b+ yFf &tk Obks [z LikAkb+ Lklke.

(4) Mzelke Miazelle 6FLik Yk. 75,000 ykfok{k ykde. Lkde Mzelkk [kkz Mddhze %kik
Epkdd Lkmn.

(5) {h=ele rd¥e MAe chikhe yiLk clelk LkVk-LkFikkLk Wkh¥ak «{ky{k dn[p.

(6) {h=elk [fookke Uik hf{ Afe Yk. 50,000 10% Le =KLk ikhef Lkde AZe{k hidide
ylk ckkfelke hf{ hkfz{k [fode.
WikhLke roekikk Ahlke :

(1) LkVk-LkFIkkLk ndk+k Fakik

(2) Mthze ¥ikik

(3)  YakakeEkNKLIK {ze Fakikk

(4) hkfz ylk ckf Yaik ik

(5) {h=elke rlork MAelk Lkde AZelk AKF Wkhob ikpkh Fhk.
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%= ylk nik= yUed 3 ¢ 2 Uk «fkydk Uk - LAWK n[e +ik yF Ikzelik Yakoteknk

nik. . 31.3.04 Uk hislk ikfUe Mzelk BkF Whab Le[ {s¢k nik.

ESk Yk. r{=Filk Yk.
{ze Vi - POk 85,000
r{ik+ 1,50,000 VLK h 75,000
nik= 1,10,000 2,60,000 | hkfkyk 60,000
WLILD YL ik 30,000 | Iixkf 1,20,000
«krdzlz Vz 40,000 | E&kEkhk 80,000
+y/Ekhk 90,000 | ELk ckf 20,000
fi{Eih yAkik daith Vz 20,000
4,40,000 4,40,000

ii. 1.4.04 Uk hks Mzelk “cEp r+r{xz” {k Lke[le adlel YMikh fhok{k yilp.

(1) fille VSK[h yik okF rik=F hkakp i{ r{=Fikk ylk Edk <R =p.

(2) flilke P Lk IxkF ckoh f{ik =R = A. Mzelkk Mkhdbk{k % ckdh if{ik Fhikk
15% ykAe iF{ik ylk WxkF ckoh iffik fhikk 20% oA if{ik Epkd+ A.

(3) EOKEKhk Akh 10% +% kYA yL{ik hkyade.

(4) fikke Mcsze Mx Yk. 50,000 ykikp.

(5) ¥heE oFfik Mx fiklke 22,000 Ridoxe ph Enf Yk. 10 Uk yFf ydk 10% r«r{b{

ylk ckkfellk hifzk yidkp.
(6) VSLk[hLk Yk. 58,000 WikRbPk ylk rolkslk %[ Yk. 4,000 (kbk.

(7) fille Mdhlle Lo+ phk ikfe 7,000 phk Yk. 12 Uik Y43 8[: EdMk yid+k ylk

kfelic phi LIVK-LEFDRLk dn[yellk «{ky€k VikakeEihky an[e ek,
Wikhtke {irnile Ahlke Mzelk [Kikz fkpkh fhi :
Q) {0 =ik Ui ik

(3) Ve {ze kil
(5) okye Epkaik lokf

ylkak

(2)  ckEp rer{xzlk ik

(4)  chEp rerfxzlk philk Ykik

(6)  hkfz Yikik

i, hefk Yk Mefk 2 2 1 Uk <oy {k UV Sn[itk YagkeEik nik. i, 1.1.04 Li
hks ikyky Mzelk rolkslk fhoklk Lk—e . ik ihes Kzelk KeF Whob L[ {sck nik.

Eok Yk, r{Filk Y,
{z¢ Yiik Lk 80,000
rLkh{k 60,000 fhx 28,800
he{k 30,000 lxkf 15,000
ek 20,000 1,10,000 | EdKExhk 22,000
okF =KLk 15,800 | nklk Ah hkfz 2,800
hefie =KLk 12,500 | LkVk-LkFIKLK ¥akik 15,000
+yEihk 25,300
1,63,600 1,63,600
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LR GF -+ KL by A.
({=FilUk Le[ {sck Lkyk {ébk :

Yk
«k{ ok 25,000
¢leOd nOk 16,000
%O nok 24,000
[k nok 25,200

Yk. 4,000 rdlkslk %[ {kx  ylk{ik ¥ nik, &hik %h¥%h %[ Yk. 3,000 (kbk.
“{Lz¢ OAKhKLk” M@rik {sck hkfzlke N6 no dn[ye Epkdik Kok ikbkh fhk.

©¢ hks ikle Mzelke he {kmike hi¥%e pobk Lke. Le[Ue {knike Mhlke k. 31.3.04 Lk 12
hks Mnk Uik Soklk oMkhaukik, LkVk-LeFikkLk ¥aik ylk ks ikkhedalk AkF Wkhob ikbkh Fhk

r{=Fikk ylk ESK ik. 31.3.03 ik. 31.3.04
Yk. Yk.
s{elk 3,000 @)
+y/Ekhk 15,000 12,000
ESKkEkhk 20,000 30,000
hkfz 12,000 ?
NxkF 31,000 45,000
f+hx Lk {foeLkhe 35,000 38,000
Yok y LRk ik 2,000 ?
+ye nzeyk - 2,000

hkfz Opankhk;

hkfz d[ky Yk. 88,000, EokEkhk Akl Uke oMk=kik Yk. 1,10,000, A+kxLie
YheEe Yk. 3,000 (1.10.03) Wikz Yk. 8,000, {she Yk. 3,000, Mekh Yk. 15,000,
x+eViLk cle= Yk. 6,000, Ydz [60P Yk. 9,000, Kh[hy %[k Yk. 8,500, 10% Lk hkfkyk
YiheEPk (ik.1.10.03) Yk. 6,000, +yEkhilk [faok Yk. 35,000.
Oxkd {ébk Yk. 1,000 iklkk ESKEKhKLk &xkd ykiPk Yk. 3,000.
nok=k:
(1)  Wkknk Aok Fipge r{=Fikk A&kh 10%Lk Enh Ykknk Flkk ik {ze &h 10% Eh Obks gkyk.
(2) EOKEkhk Mh 5% Wk=YdA  ylk{ikke OaKR Fhk.

ylkak

XFLKA 3k (akf Tk k) 12
(1) Yikzkkeklkk <Fknk

(2)  LkkykFeb Yakzkikxk

(3)  YakzkikxkLkk VKDEK

(4) Yz ¥iheE M@rikkk FhkhLke rogkik.
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{0 Makrik Lok Mkklke k. 1.1.02 Lk hks Yakzk ¥aheE M@riklle WiFlz nlz Rizefk skkze
YheEe. {kxh okkzelke YuheElkx ik{y L[ {sckke hf{k [Fde nike.

ikkhe%a Yk.
1.1.02 hkfz &FikLkk 10%
30.4.02 89,000
31.8.02 65,000
31.12.02 42,000

ok 15% +% Opksle hF{Lk W{kSp kb=k A. WKk 20% {sck okydilkk A.
Wikhkaik Lkmile Wiknlke

(1) {8k [Mkz Rizefe Loxhokkzelk ki,

(2) Wakik {odklkk [z {0k Ykie kpih k.

ylkak
({4 VIPLIWIK r=r{xz . 1.1.04 Uk his Yk 5,00,000Ue Ekprikf ef{iilie Shlle

b.Mle.khfkh Lk  +kk Yk. 4,50,000 Ue [Kkz oF{ik Ankd A. Obks k. 31{e {K[ YLk
30{e IkixBekhLkk hks [Fook{k yid A. 2004k &k Endbilk Lie[Lik Obdnkhk kbk nikk

flkhevs EkprLkf oF{ik 7%) LKA

Y¥. Y.
1.2.04 2,00,000 95 Obks Mkrnik ¥sheEe
1.3.04 1,00,000 94 Obks ckE B[ky
1.6.04 1,00,000 98 Obks lknik d[ky
16.9.04 1,20,000 94 Obks GKE YaheFe

YiheE-S[kyLik Enf Obankh{k ckoh oF{ik Mh 1% <% E-kee okydile A.
yidhle chkfelk {OPKFLL rvWk Mgk {sck Fhallk A.
2004Uk &% {kx 6 Le b.lielhfihlie +kiLk ik ikbkh Fhk.

vk «8k sBIgk il : (e Tt D)

(1) ke sobk Mhk .
WD YLLK oo WSE YLK e, ylk fidtin
ck[ik Vzoo oo, A

(2) xFUkA %k - “iblokkk okyi¥h » (Sacrifice Ratio)

(3)  “VidleEkhLie 1Lid¥e 3%k YAk VA YT ViakeEihlk kv (b A.” WEnhy yiike
W{ Ok,
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(4) Wikh d[ky pki

EakEkhk (1.4.03) Yk. 31,000
WYaA yLk{ik (1.4.03) Y. 1,000
R s 7 Yk. 52,000
(Yk. 2000 Yikfafk {lzedka+ W=Y4A Wkrnik)

ofky Mhik Yk. 1,000
ESKEkhkYik WAkh= Obks Yk. 1,500
Lkfkhkp+ +ye nzeyk Yk. 2,500
EakENk (31.3.04) Yk. 35,000

(5)  Yikzkikekke AL «Fihlik FhkhkLke PKEe yidk.
(6) y Uk [Kkz {pelkhelk Yik y™ ok Lk %kik Le[ {sck nik :

{pelihe ik

1.1.04 | ckF ik 10,000 | 31.12.04 | ‘llihk ik 20,000
31.12.04| ¢k Yk 50,000 | 31.12.04 | ckfe yi,,o <R akbk 40,000
60,000 60,000

o Lk ik
31.12.04 okF Yk 55,000 31.12.04 | Obks ¥k 5,000
31.12.04 | {pelkhe Yikik 50,000
55,000 55,000

LWV - LKLk ~okile VALK v Lk ok Lik [Kkz <%k.
(7) i 31.12.04 Uk hkslk MeF Whab.

Edk YE. r{=Filk Yk.
+y/Ekhk 21,000 ESKEkhK 32,000
oKE Oxkd yLk{ik 1,000 20,000 | cWE. Wk+¥4A ylk{ik 2,000
y e {zz 25,000 30,000
¢k Lk {z= 15,000 40,000 | clE oxkd yLkk{ik 1,000 29,000
kh[hy r{=fik 31,000
60,000 60,000

VialeEkhe AZeLik roMksLk 8%k ESKEhK YLk +yEKKK Li=r{=Fik kfis YAik =R sdille
VLK k.

(8) oOfelkeheyilik YheE-o[ky Mh 1.5% E+k+e A. ©¢ y.y Yk 85,600Ue O{clkakeheyk
YheEe A. YLk Yk. 15,560Uk phk 83pk A. ¥heFe {ox Ly Fx=k Vrikpk [F5k Mzp ik
bhitk B[4l il Fx=k Yrikek {ap.
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